: 2015-2016 (335)

‘ﬁmﬁm ﬁ'tﬁwm (H Umt)
fRre1g : 2015-2016 [Set-3]

ﬁtﬁﬁﬁmﬂﬁ?ﬂ

B. 3few C. 37¢s D. 3fog
m mﬁﬁw
ﬁl fofiee | samed | swway |
‘Eﬁ“m 'gfiﬁfe vFory | foad | sreal
Ans : A.

o, % Ruww o=: wegg
A Tg+9% B.oR+9% C.9x+98 D. Wz + 9%

[t : R T Rt e G-
o s+ G - A=fE o e - SrE il
o oRs + o - W ewme 4R
Ans : A PRSRS - il A :

B. R Twed wmaet fran |
C. @ g @ Fredem wife

(E¥ Idon't mind ____if you are tired.
A. to drive B. drive
C, driving D. to be driving
T[N : to ASE @ (@ preposition mind, worth, would
you mind, w:thmtﬂ%%ﬂﬂﬂmg‘”l!l '
Ans : C.
10. What time

A. the train leaves?

C. is the train leaving?
T - Structurs:
Whattlme+auxiltaryva‘b+sub}a¢t+mamvwb+?
Ans : D. -

I wish that he come tomorrow.

A. shall B.will bave C.should D.would

m Wish, ﬁn.cy AT o past mdeﬁmtefsunﬂc

B. leaves the train?
D. does the train leave?

Which one is the correct sentence"
A. She forbade to do this.
B. She forbade doing this.

T < i’h-#wﬂ.uﬁnﬁﬁnmaﬁmml
Ans : D.
m She refused me.
A. helping B.tohelp C. for help D. helps
Ty : Refuse 97 " prepuantxmﬁtﬂw 0 T |
Ans: B,
m One of the
A. students has B. student have
C. students have D. peoples have
MGt : One of the + plural noun + singular verb
Ans : A,
Which one is the correct sentence?
A. He promises speaking the truth,
B. He promised speaks the truth.
C. He promised speaking the truth.
D. He promised to speak the truth.
FN1 : Promise 43 *1 preposition &R to 307 |
Ans:D.

come.

D. v s e g gl;le iorgage dozs Fhisih'
= = : e forbade to doing this.
Wm-ﬁgmmml o - Forbade @2 preposition &7 to 1 f#®
- e gl FemefeT woife ) forbadem;}reposmm ﬁmmuﬁmmm
- wafs St et | (verb + ing) T | R o AU i g
Ans : C. Ans : A,
B3 oW T A0 7w Where ___ so long?
A e B feef  C. SR D. w@= A. were you B. have you been
w:ﬁgﬁm s : C. are you D. was you
e | WS | gamn | oiew | e | W*SOWMEWMMW
TSI | WS | SR | SiowArm | welwy | mmmmmz
Ans : D. AW e, ot B Lt e g 07 T =
o¢. Fsa o *weTsen W wfe? Choose the correct one.
A. frire, 39, ©F B. Affy, T, wee A. It is raining for two hours.
C. o, sprame, = D. w3, 7¥, wike B. It was raining for two hour.

C. It has been raining for two hours.

. D. It is raining since two hours,
Tt : Since + WWWE 7w ; for + W
Ans : C.

15. Which one is incorrect?

A. He as well as his brother have done it.

B. He as well as his brother has done it.

C. Is any of these watches satisfactory?

D. The tallest boy of the 70 students is a talent.
TN : As well as @9 1 subject wm verb T3 1
Option ‘A’ ¢@ as well as <% W1t sub T ‘He’ | ©7%, he
st verb @ has | =G he TR third person singular
number |

Ans : A,
n I want to help you ___ your need.
A.in B. at C. for D. within
T : In your need - ATATETTA & |
Ans : A,




17. Which of the following words is correctly spelled?
A. assasinate B. counterfeit
C. quarellsome D. circumferrence
gt : Correctly spelled word : Counterfeit.
W WRs R correct spelling : Foreseeable, Lo]hpop,
Glamorous, Humorous, Interrupt.

Ans : B.
Synonym of 'piety’ is
A. moral B. pity C. holiness D. sacred

PN : Piety - qififes! |

Synonym: Devoutness, Faith, Fervor, Loyalty, Sacred.

* Antonym: Impiety, Irreverence.

Ans:D. .

Antonym of 'wholesome' is .
A. nutritious B. unhealthy
C. hearty D. good

/gt : Wholesome - #8194 |

Synonym: Beneficial, Healthy, Fit, Healthful.

Antonym: Unhealthy, Impure, Indecent.

Ans : B.
Meaning of which word is ‘&f’?
A. right B. rite C. write D. writ

YT : el G R 2SS -
Rite, Custom, Form, Practice.

Ans : B.
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Ans : A,
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= ¥20% + 60° +2x20%60xcos 30° = 77.96 N
Ans : B.
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A. 16.84 ms™ B. 17.84 ms™

C. 18.84 ms™ D. 19.84 ms™
I :v=@r= sz= mx 1.5=18.84 ms”
Ans : C.

1 m ™G @k 5 x 10~ m THRMAE T=irez oz 19.6 N
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M+ e 1if o T b =i A. 144 B. 1.34 C.1.54 D. 1.33
c TMGT 2 44y X whlg X ghlsa = 1
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8. REARE TS NS URE IR 520 m VY Seww | | O mmmmmmlmwe«
g 93 787 @ 130 ms™ 71 & T g FOr ey
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] Zt 93
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Ans : A. : 80. 0.5T G1%s e AN 30° @t Teoiy o w3 Tl
G S ez T 3 x 107" m aw 2% o fi, s et 107 ms™' @« | Torbew B4 R oe
6 x 10%° 7o wog o1p I% o A 3| _ m‘““ﬁg? E
A.417%x10”°m B.3.17x 107 m A.2x10 'N B.2x10" "N
C.417x10%m D.6.11x10™m C.4x10"N D 4x10 "N
T : T : F = qvB sin
1 =1.6x 107" x 10’ x 0.5 x sin 30°
A= = -13
-./_nm  J2x6x10% x3.1416x (3x1077)? _,m“ b
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S O ¥ T
A1l B. 1.5 €.2 D.2.5

84. W a =-§-(~—1+—3)- TR b-=-;~(—l~-—3) T, O
a' + a’b* + b* sl I v TR
A -1 B. 3 C.0 D. y-3

B3, Gv SHIATES HHES (Y - PRAP e
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G Sx+2y-11=0a3x+dy - 1=0"M*@®O® | g A-2]+2j-kaqne B=i-3j+5kzm A o B @@
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X IRy 7T FOI werfe e TS TAr

A (x,y)=(3,-2) B: (1) =3, -9 {3
2 D. A. B.sin
- (r] (rs]

.ﬁamqhwm-
A.120%  B.135% C.35% D.125%

f: A - B @R f(x) = X’ T wowl Gawer
A {1,2,6,9} g
C' 'g’ 194} .

xyl+y+yVl+x =0 T gx—y A FS?

-1 -2 1 1
3/ B=—p G 3
(1+x) (1+x) I+x (1+x)

wy, f(x) = x(x — 2) TR o [1, 2] TR @b B x =c
R AR ¥y

T e Y- Y ¥
3 2 3

ev. AW tan0 = T, O x cos 20 + y sin 20 7 TF T
X

C.y D.6




w3, m =3 A=2,i‘—63—3l; =, §=4i+3;—l;m o 2x + 3y + 7 = 0 G o7 352
¥ serE T @l W (o ToR- A __-3: B. 2 C. -3

T B Voo 3
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c, %(3§+3j+2i) D. %(35—33+212) ' e T AR (BN Pegr W 1T ILARER oy
7 - 4. 4+ 3i wfbw TG TQT IS A2
A.25 B4 . C3

x—2
= i =7
x»2x% _5x46

Al B. -1 (o5

S 0 B e R ABCﬁ!!c=3.8aﬂ - s.zalﬁmm-mss"

T T . T B PR T I LA

W A=2i+j-2k W% BeSiZ4jrk JREK S By A.1202° B.1302° C.1252° D.1352°
TG 3 0 T T ™ e . _

vlge)  relii]
i cos'{@) D. sin“’[:-j-‘i_;J

™ G, 7) s (6, 10) e
[ e wwies 3w on ghw I @y
A.(9,5) B.(6,9 |

AWMITFO, 2x~y+3 =0 3x+ay-2=0
I R N A
A.a=8 B.a=6 g D.a=7




9, R @RS X’ +y - 2x— 4y + 4 =0 TR TR RS2 | 9. cot 840° G T F© TA?
A. (0,0) B. (1,2) 2
C. (-1, 1) D. (1, 1) A B35
gt : D e (1, 1) g wa sl fors 2
% (1, 1) Rreaf® gren Tom wafys | c. -Y3 sl
Ans : D. : 2 V3
qo. &f® erars 981 1. FEY @t Tl w3 @FF (I | | T : cot 840° = cot (2 x 360° + 120°)
a3 e fE cem o T MR 10 Gt = cot 120° = cot (180° — 60°)
wfire s o, «eEf @ o T o o @aEE 1
Twe! ¥ T 2O Sooee
A. 293 4 fiom B. 932.4 fibm@ e
C. 492 .4 iR D. 3924 fitm
5 lim1/ t.’v’r— \frl_—_x',z?
< = o X=—»l)
ikl hinin 2ol 507 A3 B. 2
C.1 D. 4
=—9.81x10+3 x931x102 392.4 fibm | 1 ]
Ans : D. ey 1+x+2Jl—x
98, AW YR BAGB S = {x : 5 — 16x + 3 < 0} @w | | VO lim==—rr #ulim :
Fzew fgdi e« waey Seiinn ¥ gar 1
= —+—=1
A.S_fna:-l— B.Smtl
7 3 Ans: C
C.3am L D. 4 a% ~ d(x*-9) .
5 8 — | =9
2 3 dx | x _3J
PY1: 5x° - 16x +3 <0 =>5x" - 15x—x+3<0 2
= 5x(x —3)— (x=3)<0 A 5x B. 4x
= (x-3)(5x- <0 C. = D. 2x
1 2
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NN g e e e il
1 dx|{x*-3) dx x=3
LEASITNEI X > — d
1 5 =-d:(x2+3)=2x
TR i = 3, o G”h"=§ Ans : D.
Ans: C. jxe"dxr‘?
9¢. 'Calculus' %3 Ifeto mmmﬁmwm — B i
FOC T (O 2N @ oo U QA é‘“ 2 D.xe‘*'re"
A. 160 B. 180 et T
C.175 D. 185 T - _[xe‘dxz
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dx
Ans : B. Kok
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